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Telling the Time

It's time to go on holiday. Use the clocks to help plan the trip.
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What time do you get up to go
on holiday?

O

What time do you play on
the beach?

-
o
'o. 2 — o —

What time do you set off
on holiday?
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What time do you each an
ice cream?
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At 4 o'clock, you go swimming.
Draw the hands on the clock.
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At half past 6, you go to a disco.
Draw the hands on the clock.

If you go on holiday the day after Sunday, what day will you

go on holiday?

If you go to the beach on the second day of your holiday, what day

will you go to the beach?
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What time do you get up to go

on holiday?
7 o'clock

Telling the Time Answers
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What time do you set off
on holiday?

half past 8

What time do you play on
the beach?

What time do you each an
ice cream?

11 o'clock half past 1
) = w ¥ B o D "
" ! s ;‘.l.\‘ " : " "'.': 'V " |U' “-
e ) ] '; v v ) :. v\.l‘;, [ 98 P i
2 o~ y N e h
’ ‘A ‘.’.; ”".’ | ﬂ‘{ N "l \EA -
- e E Y

At 4 o'clock, you go swimming.
Draw the hands on the clock.

At half past 6, you go to a disco.
Draw the hands on the clock.

If you go on holiday the day after Sunday, what day will you

go on holiday?
Monday

If you go to the beach on the second day of your holiday, what day

will you go to the beach?
Tuesday
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Multiplication Summer Mosaic

Solve the calculations to reveal the hidden picture. Each answer has
a special colour.

red = 1-12

green = 40-55
yellow = 90-120

white = 13-39

blue = 60-80

12=5 | 6=10 | 3 =10

4x10 | 9x5

3 x5 =10 | 11 =2 5=x=x5 | 8=10 6x5 5=10 | 3 =5 11 =5

12 = 5 9x2 12 = 2 6 =5 I =5 6 =10

8=5 [4=10| 9=x5
=10 | 9=10 |10=10|110=11110=12) 8=10 | 3 =5 8 x5 9 =2
1x=2 2x2 1=5 3 =2 L= 2 5x2 12 =2 (| 5=10 | 5=5
10=2 (1 =10 | 6= 2 2= 2 3 =2 11 = 2 L x5 8 x5 8= 2
b x5 1x5

8x5 [4=x10| 9x5

9=10 | 1x=10

3x2 |10x10| 5=x10| 9x5 | 11 x5

10 = 12| 1x2

1=5 |10=x11| 8x5

bx10| 9x5




Multiplication Summer
Mosaic Answers

. red = 1-12 green = 40-55 blue = 60-80
yellow - 90-120 white - 13-39




